Q1: Pattern 1 (In case of device caught internal ERROR/WHDI falling edge)
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(Register) NO_ERROR=0 happened completely same time.
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low-pulse duration high-pulse duration
Counter is counting. Counter is counting.

*1:Deglitch time on ERROR/WDI pin for MCU error signal monitor(15us typ) + synchronize to internal system clock within 500 ns typ
*2: low-pulse counter re-initialize(250ns typ) + re-start(250ns typ)

Q1: Pattern 2 (In case of device didn’t catch internal ERROR/WDI falling edge)
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(Rengter) NO_ERROR=0 happened completely same time.
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Low/High-pulse Do nothing

Duration counter T

high-pulse duration  low-pulse duration
Counter is counting.  Counter is counting.

*1:Deglitch time on ERROR/WDI pin for MCU error signal monitor(15us typ) + synchronize to internal system clock within 500 ns typ
*2: low-pulse counter re-initialize(250ns typ) + re-start(250ns typ)




